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Tnpsc Aptitude & Mental Ability Model Questions Set 1 

Explanation 

1. Calculate the area of a sector whose radius and arc length are 6 cm and 20 cm 

respectively. 

ஆரம் 6 செ.மீ வில்லின் நீளம் 20 செ.மீ. ச ொண்டுள்ள வட்டக் க ொணப் 
பகுதியின் பரப்பபக்  ொண் . 

a. 120      b. 80      c. 60      d. 100    

Solution : 

Area of the sector = (Lr/2) square units     

L = 20 cm 

r = 6 cm 

= (20 x 6)/2  

= 10 x 6   

= 60 cm² 

Hence, area of sector is 60 cm² 

2. If x is 80% of y, then what percent of 2x is y ? 

x என்பது y-ல் 80% எனில் 2x –ன் எத்தபன ெதவதீம் y ஆகும். 

a. 40%   b. 62 ½ %   c. 66 2/3 %  d. 80% 

solution 

x = 80 % of y   

x = (80/100)y   

y/x = 5/4   
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Required percentage = [(y/2x)*100] % = (5/8*100) % =62.5% 

3. L.C.M. of  
 
 

 

 
 

 

 
 

 

  
 is 

 

 
 

 

 
 

 

 
 

 

  
 ஆ ியவற்றின் மீச்ெிறு சபொது மடங்கு 

a. 1/18 b. 1/36   c. 35/9   d. 140/3 

solution 

The L.C.M. of 2/3, 4/9, 5/6, 7/12 is 

L.C.M = ( 2,4,5,7)  = 140 

H.C.F = ( 3,9,6,12) = 3 

L.C.M = 140/3 

4. The difference between compound interest and simple interest on a sum for 
2 years at 8 percent is Rs. 768. The sum is 

இரண்டு வருடங் ளுக்கு 8% வட்டி வி ிதத்தில் எளிய மற்றும் கூட்டு 
வட்டிக்கும் உள்ள கவறுபொடு ரூ. 768 எனில் சதொப யொனது 

a. Rs. 1,00,000 b. Rs. 1,10,000  c. Rs. 1,20,000 d. Rs. 1,70,000 

solution 

Let the sum be x. 

We know that SI =    

   
 

= x * 8 *  

   
 

=   
   

 

=   

  
 

Then the CI = P( 1 +  

   
    - P 
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CI = x(1 +  

   
    - x 

= x(1 +  

   
    - x 

= x(   
   

     - x 

=     

    
    x 

=      

    
 

Given that the difference between CI and SI = 768. 
   

    
 x -    

   
 = 768 

LCM of 625, 25 = 625 

104x - 100x =  768 * 625 

4x = 480000 

x = 120000. 

5. 5 men and 2 boys working together can do four times as much work as a 
man and a boy. Working capacities of a man and a boy are in the ratio: 

5 ஆண் ள் மற்றும் 2 பபயன் ள் இபணந்து செய் ிற கவபல ஒரு 
மனிதன் மற்றும் ஒரு பபயன் செய் ின்ற கவபலயின் அளவில் 4 
மடங் ொகும். ஒரு ஆண் மற்றும் ஒரு பபயன் கவபல செய்யக்கூடிய 
தன்பமயின் வி ிதமொவது 

a. 1 : 2 b. 1 : 3   c. 2 : 1  d. 3 : 1 

Solution 

Let 1 man 1 day work = x 

1 boy 1 day work = y 

then 5x + 2y = 4(x+y) 
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x = 2y 

x/y = 2/1 

x:y = 2:1 

6. 3 men or 5 women can do a piece of work in 12 days. How long will 6 
men and 5 women take to finish the work? 

3 ஆண் ள் அல்லது 5 சபண் ள் ஒரு கவபலபய 12 நொட் ளில் செய்து 
முடிக் ின்றனர் எனில் 6 ஆண் ள் மற்றும் 5 சபண் ள் அந்த கவபலபய 
எத்தபன நொட் ளில் செய்து முடிப்பர்? 

a. 20 b. 10   c.4   d. 15 

solution 

men rate ,   

    
 =  

  
 

women rate ,  

    
 =  

  
 

6 men and 5 women rate 

6 * (  

  
    5 * (  

  
   

=  

  
 +  

  
 

=  

 
 +  

  
 

=  

  
 +  

  
 

=  
 
 =    

    
 

4 days will be required to complete a job. 

7. The value of            

         
 

மதிப்பு  ொண்            
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a. 1  b. 3/2   c. 4/13   d.   

  
 

solution 

solve by BODMAS rule 

(6 + 6 + 6 + 6)   6 = (24)      

4 + 4 + 4 + 4    = 4 + 4 + 4 + 1 = 13 

=  

  
 

8. If x : y = 2 : 1 then find (      ) :       

x : y = 2 : 1 எனில் (      ) :        ொண். 

a. 3 : 5  b. 5 : 3  c. 1 : 3  d. 3 : 1 

solution 

   –    = (a – b)(a + b) from this formula we can solve  

(      ) = ( 2 – 1 ) ( 2 + 1 ) = 3 

To solve this part        we must use two formulas 

   +    = (a – b  + 2ab ………………. Eqn 1 

(a – b  =    – 2ab +   ……………………. Eqn 2 

When we substitute eqn 2 in eqn 1 both 2ab will be cancelled . 

When we substitute the value it will be           +    = 5 

Which results in 3 : 5 

9. Simplify 99   
  

  245 

சுருக்கு . 99   
  

  245  
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a. 24495  b. 24899  c. 24485  d. 24895 

solution 

Given expression = (100-1/49) * 245 

= (4947/49) * 245  

= 4947 * 5 = 24495. 

10. TheLCM of 2 numbers is 2079 and their HCF is 27. If one of the number 
is 189 then find the other number is 

இரண்டு எண் ளின் மீச்ெிறு சபொது வகு எண் 2079. மீப்சபரு சபொது வகு 
எண் 27. அதில் ஒரு எண் 189 எனில் அடுத்த எண்பணக்  ண்டுபிடி. 

a. 298   b. 297   c. 397   d. 
498 

Solution 

Second number =        

            
 =        

   
 = 297 

11. If 2A = 3B = 4C. Then find A : B : C 

2A = 3B = 4C எனில் A : B : C  ொண் 

a. 2 : 3 : 4  b. 4 : 3 : 2 c. 6 : 4 : 3  d. 20 : 15 : 2 

Solution 

Type 1 : 

Given, 2A=3B=4C 

Now, 2A=3B=>AB=32 

or A:B=3:2 



Winmeen Tnpsc Gr 1 & 2 Self Preparation Course 2018 

 

7 www.winmeen.com | Learning Leads To Ruling 
 

=3×2:2×2=6:4 

Again,3B=4C=>BC=43 

or B:C=4:3 

A:B:C=6:4:3 

Type 2: 

2a=3b=4c => b =(2/3) a and c = ½a  

Hence a:b:c = a: (2/3)a : ½a = 6: 4 : 3 

12. A student multiplied a number by  
 
  instead of  

 
. What is the percentage 

error in that calculation? 

ஒரு மொணவன் ஒரு எண்பண  
 
 என்று சபருக்குவதற்கு பதிலொ   

 
 என்று 

சபருக் ிவிட்டொல், அதனொல் அந்தக்  ணக் ில் ஏற்படும் ெதவதீப் பிபைக் 
 ொண் . 

a. 34%   b. 44%   c. 51%   d. 
64% 

solution  

type 1 : 

Let number is 100. 

Actual Multiplication = (100 *5)/3 = 500/3. 

Student multiplied = (100 *3)/5 = 300/5. 

Error,= (500/3) - (300/5) 

= (2500 - 900)/15 

= 1600/15 
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%Error = (1600 *100 *3)/(15*500) = 64%. 

Type 2 : 

Let the number be x, 5 / 3 – 3 / 5 = 16 / 15x 

Error% =(16 /15x   35   100) = 64% 

13. If the diameter and height of a right circular cone are respectively 12 cm 
and 8 cm. Then its slant height is 

கநர் வட்டக் கூம்பின் விட்டம் மற்றும் உயரம் முபறகய 12 செ.மீ மற்றும் 8 
செ.மீ எனில் அதன் ெொயுயரம் என்பது 

a. 10 cm   b. 20 cm  c. 30 cm  d. 96 cm 

Solution 

diameter=12 

radii=  
 
=6cm 

height =8cm 

slant height(l)= (  +  ) 

l= (  +  ) 

l= (64+36) 

l= 100 

l=10cm 

14. The perimeter of a rectangle having area equal to 144 (cm)2 and sides in 
the ratio 4 : 9 is  

ஒரு செவ்வ த்தின் பரப்பு 144(செ.மீ)2 எனில் அதனுபடய பக் ங் ள் 4 : 9 
என்ற வி ிதத்தில் இருக்குமொனொல் அதனுபடய சுற்றளவு எவ்வளவு? 
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a. 52 cm  b. 56 cm  c. 60 cm  d. 64 cm 

Solution 

Area of rectangle =l×b 

144=4x * 9x  

x=2  

So, Perimeter of rectangle =2(l+b) =2(9x+4x) 

=2×13×2 = 52 cm 

15. According to the Boolean Equation, the expression A + Ã is equal to 

பூலியன் ெமன்பொட்டின்படி A + Ã எதற்குச் ெமம்? 

a. A   b. Ã   c. 0   d. 1 

16. If the base of a cone is not circular then, it is called 

கூம்பின் அடிப்பொ ம் வட்டவடிவில் இல்பல எனில், அது ________ ஆகும். 

a. circular cone வட்டக்கூம்பு)   

b. oblique cone (ெொய்வுக் கூம்பு) 

c. right circular cone ( நேர்வட்டக் கூம்பு)  

d. oblique and circular cone (சாய்வு மற்றும் வட்டக் கூம்பு) 

solution 

A cone is a solid that has a circular base and a a single vertex. If the vertex 
is over the center of the base, it is called a right cone. If it is not, it is called 
an oblique cone. An object that is shaped like a cone is said to be 'conical'. 

17. The arc length of a sector is 66 cm and the central angle is 300 . Find 
the Radius 
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வில்லின் நீளம் 66 செ.மீ மற்றும் பமயக்க ொணம் 300 ச ொண்ட 
வட்டக்க ொணப் பகுதியின் ஆரம்  ொண். 

a. 166 cm  b. 140 cm  c. 122 cm  d. 126 cm 

Solution : 

Arc length of sector = 66 cm 

Sector angle θ = 30° 

l = (θ/360) x 2 r 

Applying the values of arc length and central angle in the formula, we get 

66 = (30/360) x 2 x (22/7) x r 

66 = (1/12) x 2 x 22 x r 

r = (66 x 12)/(2 x 22) 

r = 126 cm 

18. If a* b=   

   
   , find the value of 3 * (3 * - 1) 

, எனில் 3 * (3 * - 1) மதிப்பு  ொண் . 

a. -3   b. -1.5   c. -1   d. 2/3 

solution 

(3 * - 1) =       

      
 =   

 
 

3 * (3 * - 1) = 3 *   

 
      

  

 
 

   
  

 
 
  

=   

 
 *  

 
 

= - 3 



Winmeen Tnpsc Gr 1 & 2 Self Preparation Course 2018 

 

11 www.winmeen.com | Learning Leads To Ruling 
 

19. A and B together can do a piece of work in 8 days. But A alone can do 
it in 12 days. How many days would B alone take to do the same work? 

ஒரு கவபலபய A, B இருவரும் கெர்ந்து 8 நொட் ளில் முடிப்பர். A மட்டும் 
அவ்கவபலபய 12 நொட் ளில் முடிப்பர். B மட்டும் அவ்கவபலபய 
எத்தபன நொட் ளில் முடிப்பொர். 

a. 24 days  b. 25 days  c. 23 days  d. 22 days 

solution 

A and B together take 8 days [ Here ‘A’ and ‘B’ refers to the work done by 
‘A’ and ‘B’] . 

A takes 12 days so, in 8 days = 8/12 

now we can say that A has done 1/8 of the work and B has done 1/B of the 
work . 

1/A + 1/B = 1/12 [Here B refers to number days taken by B to do the work ] 

1/8+ 1/B = 1/12 

1/B = 1/24 

No of days B takes to complete the work = 24 days 


